R-25-2023 A Resolution Authorizing a Contract with Global Public Safety, LLC for the Purchase of Outfitting for Three Police Vehicles

City Council of the City of Glenarden, Maryland 2023 Legislation

Resolution Number: R-25-2023

Sponsor: Derek Curtis, II Council President
Co-Sponsor: At the request of the Administration

Public Hearing:January17, 2023Session:Regular SessionDate of Introduction:January 23, 2023

A Resolution Authorizing a Contract with Global Public Safety, LLC for the Purchase of Outfitting for Three Police Vehicles

WHEREAS, the City of Glenarden, Maryland ("the City") maintains a Police Department ("Police Department") for the protection of the public health, safety and welfare; and

WHEREAS, to protect the public's health, safety, and welfare, the Police Department must maintain an adequate number of police vehicles along with the necessary equipment for each vehicle; and

WHEREAS, three police vehicles are in need of outfitting such as lights, sirens, and transport compartments to properly serve the needs of the Police Department; and

WHEREAS, Section 818 of the City Charter requires that the City engage in a competitive bidding process for the procurement of goods and services with an estimated cost exceeding \$2,000, except that whenever a federal, state, county or local government, or any agency thereof, whose purchasing policies are comparable to those of the City, has conducted a bid and awarded a contract, the City may purchase by contract the bid item at the bid price from the successful bidder, subject to the approval of the Mayor and Council; and

WHEREAS, The State of Maryland has conducted a competitive bidding process and awarded a contract to Global Public Safety, LLC for the purchase of equipment for police vehicles (State of Maryland BPO Number: 001B8400207); and

WHEREAS, the State of Maryland's purchasing policies are comparable to those of the City; and

WHEREAS, Section 818 (B) of the City Charter has been satisfied to justify the waiver of the competitive bidding process required by Section 818 (A) of the City Charter; and

NOW, THEREFORE, BE IT RESOLVED, by the City Council of Glenarden, Maryland sitting in Regular Session this 23rd day of January 2023 as follows:

R-25-2023 A Resolution Authorizing a Couthe Purchase of Outfitting for Three Police	
1. That the Mayor be and is hereby authorized LLC for the equipment listed in Exhibit A an Thousand Seven Hundred Twenty Three doll to enter into said contract be and is hereby contact authorization.	d in the total amount of Seventy One ars (\$71,723), provided that the authorizat
2. Payment for the vehicle shall be made from - Police Cars, under Capital Project Function	n line item 8367-30-80-10 Support Equipment within the fiscal budget; and
3. This Resolution shall take effect immediate	ely upon passage.
Exhibits A – Global Public Safety Orders/	Invoice (3 Vehicles)
COUNCIL OF THE CITY OF GLENARI	DEN:
Derek D. Curtis, II, Council President	
Angela D. Ferguson, Council Vice President	
Erika L. Fareed, Councilwoman	
Kathleen J. Guillaume, Councilwoman	
Maurice A. Hairston, Councilman	
James A. Herring, Councilman	
Robin Jones, Councilwoman	

R-25-2023 A Resolution Authorizing a Contract with Global Public Safety, LLC for the Purchase of Outfitting for Three Police Vehicles
ATTEST:
Regis Bryant, Acting City Manager
I HEREBY CERTIFY, that on the 23 rd day of January 2023 withYesNo andAbstention(s) that the Resolution was Approved.
Robin Bailey-Walls, Acting Council Clerk



7449 Race Road Hanover MD 21076 443,557.0200

Order

To:

Glenarden Police Department

8600 Glenarden Pkwy

Glenarden, MD 20706-1522

From:

Nathan Bodkin

7449 Race Road

Hanover, MD 21076

Phone: 443.557.0200

Summary

Total Amount:

\$24,017.50

Order ID:

ORD-07595-R5L9T2

Shipping Method:

Date:

1/10/2023

Payment Terms:

Expiration Date:

2/9/2023

Contract:

MD-State

Shipping Information

Ship To:

Bill To:

7449 Race Road

8600 Glenarden Pkwy

Suite 100

Glenarden, MD 20706-1522

Hanover, MD 21076

Vehicles	The second second	W. 100	F 75 8		
Vehicle ID	VIN	Tag	Year	Stock/Unit Number	Make/Model
	1FM5K8ABXNGC14860		2022	Unit 117	Ford PIU Marked Cage
2-2-2022 Ford PIU No Cage 117	1FM5K8ABXNGC14860		2022	One 127	

Details				
Product ID	Description	Quantity	Price	Sub Total
	2-2-2022 Ford PIU Cage 117	0.00	\$0.00	\$0.00
	INTERIOR FRONT VISOR	0.00	\$0.00	\$0.00
ENFWB001LJ	Ford Explorer/PI Utility w/o Option 76P (2020-22) Split Front (DRV) D12 D12 D12 D12 D12 D12 D12 D12	1.00	\$1,054.00	\$1,054.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
INDINESTICA	GRILLE LIGHTS	0.00	\$0.00	\$0.00
EMPS1STS4RBW	mpower® 3" Grille Stud Mount Fascia Light for Grille Mount application, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Tricolor - Red/Blue/White	2.00	\$121.00	\$242.00

Product ID	Description	Quantity	Price	Sub Tota
	FOG LIGHTS	0.00	\$0.00	\$0.00
EMP\$2STS5RBW	mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White	2.00	\$136.00	\$272.00
LABOR- INSTALLATION	Installation	4.00	\$95.00	\$380,00
	LOWER GRILLE LIGHTS	0.00	\$0.00	\$0.00
EMPS2STS43	mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Red/Blue	2.00	\$122.00	\$244.00
PMP2BKDGAJ	90 Degree Deck/Grille Adjustable Bracket Kit for mpower® 4" Fascia Light w/ Stud Mount - Black	2.00	\$8.00	\$16.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	FRONT CORNER LED LIGHTS	0.00	\$0.00	\$0.00
ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9- 32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	2.00	\$83.00	\$166.00
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2.00	\$3.00	\$6.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	UNDER MIRROR LIGHTS	0.00	\$0.00	\$0.00
ENT3B3J	Intersector Surface Mount Light, 9-32 Vdc, Black Housing, 16 LEDs, Dual Color - Red/Blue	2.00	\$186.00	\$372 .0 0
PMP2BKUMB4	Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2020-2022 for use with mpower® 3" and 4" Stud or Quick Mount and Intersector Surface Mount	2,00	\$20.00	\$40.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	PROFILE LIGHTS	0.00	\$0.00	\$0.00
ENFSGS33	nFORCE® Single Deck/Grille Mount Light, SAE Class 1, 10- 16v, Black Housing, 12 LED, Dual Color - Red/Blue	2.00	\$133.00	\$266.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	REAR CORNER TAIL LIGHT	0.00	\$0.00	\$0.00
ELUC3H0103	Universal UnderCover Screw-In LED Insert Single Light Kit, 9- 32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher — Dual Color Red/Blue	2.00	\$83.00	\$166.00
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2.00	\$3.00	\$6.00
ABOR- NSTALLATION	Installation	2.00	\$95.00	\$190.00
	SIREN/SPEAKER	0.00	\$0.00	\$0.00
TSA481RSP	nERGY® 400 Series Remote Siren w/ Button Control, 10-16v - for one 100 watt speaker	1.00	\$598.00	\$598.00
TSSVBK01	100N/100J Series Speaker Bracket (only - no drill) for the Ford PI Utility 2020-2021, Bumper Mount	1.00	\$29.00	\$29.00
TSS100J5	1003 Series Composite Speaker w/ Universal Bail Bracket - 100 watt	1.00	\$225.00	\$225.00
ABOR- NSTALLATION	Installation	4.00	\$95.00	\$380.00
	REAR DECK LIGHTBAR	0.00	\$0.00	\$0.00

Product ID	Description	Quantity	Price	Sub Total
ENFWB001LV	Ford Explorer/PI Utility w/o Option 76P (2020-22) Solid Rear (DRV) D12 D12 D12 D12 D12 D12 (PAS) R_A R_A R_A B_A B_A B_A Accessories: PNFLBSPLT1 DSC w/ Breakout Box (Included) Notes: 2022 Ford PIU Unmarked Rear Visor Sales Order ID: QE096176	1.00	\$818.00	\$818.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
INSTALLATION	MDT/CONSOLE	0.00	\$0.00	\$0.00
AS4,C237.501	2020+ INT SUV CONSOLE	1.00	\$482.00	\$482.00
	SOUND OFF SIGNAL ETSA380R/481RSP/482RSP FACE PLATE	1.00	\$25.00	\$25.00
AS4.F111.299	MOTOROLA APX2500/6500/7500 FACE PLATE	1.00	\$25.00	\$25.00
AS4.F111.297 7170-0251	KIT: Panasonic Toughbook 55 DUAL RF Laptop Dock (7160- 0577-02) and LIND power adapter (#7300-0461)	1.00	\$1,166.00	\$1,166.00
AS5,N101.003	MOUSETRAP WITH WEDGE TILT	1.00	\$255.00	\$255.00
LABOR- INSTALLATION	Installation	3.00	\$95.00	\$285.00
INSTALLETTION	FZ-55 TOUGHBOOK	0.00	\$0.00	\$0.00
FZ-55FZ-14VM	Public Sector Specific, Win10 Pro, Intel Core i7-1185G7 (up to 4.8GHz), vPro, 14.0" FHD 1000 nit Gloved Multi Touch, 16GB, 512GB OPAL SSD, Intel Wi-Fi 6, Bluetooth, 4G LTE Band 14 (EM7511), GPS, Dual Pass (Ch1:GPS/Ch2:WWAN), Infrared Webcam, Standard Battery, TPM 2.0, Emissive Backlit Keyboard, Flat, CF-SVC512SSD3Y - 3 Year No Return of Defective Drive, CF-SVCADDPRM12B - 1 Year Absolute Resilience Panasonic Warranty Bundle SKU Only, CF-SVCLTNF3YR - 3 Year Protection Plus Warranty, CF-SVCPDEP3Y - 3 Year Premier Deployment	1.00	\$3,852.00	\$3,852.00
	ANTENNA	0.00	\$0.00	\$0.00
SH-GLENARDEN-001	Sharkee Antenna forMotorola APX 7500 and Cell/LTE Rok BrothersKit will connect: 1X MOTO 7/800, 1X LTE TNC	1.00	\$223.00	\$223.00
LABOR- INSTALLATION	Installation	1.00	\$95.00	\$95.00
TIMINECTION	RADIO INSTALL	0.00	\$0.00	\$0.00
CUSTOMER ITEM	Customer provided Motorola APX6500 remote head radio, antenna, connectors	1.00	\$0.00	\$0.00
LABOR- INSTALLATION	Installation	3.00	\$95.00	\$285.00
	DECALS	0.00	\$0.00	\$0.00
DECAL-FULL KIT	Full decal kit. Strips, badges, lettering twitter and Facebook etc.	1.00	\$900.00	\$900.00
	TRUCK VAULT	0.00	\$0.00	\$0.00

Product ID	Description	Quantity	Price	Sub Total
T-FDEXRM1-20N-PS- PP-LR	Explorer Magnum 1 Dwr Police Package; Prisoner Cage; Radio Lift & Tray Magnum Height 1 Drawer Radio Lift Includes Radio Tray Vehicle Year: 2020+ PPV No 3rd Row Seats Prisoner Cage: Yes Exterior Carpet: Black Interior Carpet: Grey Drawer Front: Black Composite Lock: Push Button w/Key Override 2 Mag Carpeted Long Dividers 2 Mag Carpeted Short Divider	1,00	\$5,857.50	\$5,857.50
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	PRISONER CAGE INSTALLED IN UNIT 127	0.00	\$0.00	\$0.00
P1000UINT20AOSB	Single Compartment, Pro-Cell, 1/2 Partition, w/ Passenger Side Only Outboard Seat Belts	1.00	\$2,855.00	\$2,855.00
LABOR- INSTALLATION	Installation. This cage to be installed in unit 127 as per customer.	5.00	\$95.00	\$475.00
	INSTALL KIT	0.00	\$0.00	\$0.00
INSTALL KIT		1.00	\$343.00	\$343.0 0
7616-1001B	Dual Time Delay	1.00	\$94.00	\$94.00



7449 Race Road Hanover MD 21076 443.557.0200

Order

To:

Glenarden Police Department

8600 Glenarden Pkwy

Glenarden, MD 20706-1522

From:

Nathan Bodkin

7449 Race Road

Hanover, MD 21076

Phone: 443.557.0200

Summary

Total Amount:

\$24,017.50

Order ID:

ORD-07590-D9W8J8

Shipping Method:

Date:

1/10/2023

Payment Terms:

Expiration Date:

2/9/2023

Contract:

Non Contract

Shipping Information

Ship To:

Bill To:

7449 Race Road

8600 Glenarden Pkwy

Suite 100

Glenarden, MD 20706-1522

Hanover, MD 21076

Vehicles	- NW Janes Bridge	FICAD = ES	127	Philadella St.	Die Die
Vehicle ID	VIN	Tag	Year	Stock/Unit Number	Make/Model
1-2-2022 Ford PIU Cage 116	1FM5K8AB5NGC06004		2022	UNIT 116	Ford PIU Marked Cage

Details				
Product ID	Description	Quantity	Price	Sub Total
	1-2-2022 Ford PIU Cage 116	0.00	\$0.00	\$0.00
	INTERIOR FRONT VISOR	0.00	\$0.00	\$0.00
ENFWB001LJ	Ford Explorer/PI Utility w/o Option 76P (2020-22) Split Front (DRV) [D12 [D12 [D12 [D12 [D12]D12]D12]]D12] (PAS) [R_W R_W R_W B_W B_W B_W B_W B_W	1.00	\$1,054.00	\$1,054.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	GRILLE LIGHTS	0.00	\$0.00	\$0.00
EMPS1STS4RBW	mpower® 3" Grille Stud Mount Fascia Light for Grille Mount application, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Tricolor - Red/Blue/White	2.00	\$121.00	\$242.00

Product ID	Description	Quantity	Price	Sub Total
	FOG LIGHTS	0.00	\$0.00	\$0.00
EMPS2STS5RBW	mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White	2.00	\$136.00	\$272.00
LABOR- INSTALLATION	Installation	4.00	\$95.00	\$380.00
	LOWER GRILLE LIGHTS	0.00	\$0.00	\$0.00
EMPS2STS4J	mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Red/Blue	2,00	\$122.00	\$244.00
PMP2BKDGAJ	90 Degree Deck/Grille Adjustable Bracket Kit for mpower® 4" Fascia Light w/ Stud Mount - Black	2.00	\$8.00	\$16.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	FRONT CORNER LED LIGHTS	0.00	\$0.00	\$0.00
ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9- 32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	2.00	\$83.00	\$166.00
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2.00	\$3.00	\$6.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
2110	UNDER MIRROR LIGHTS	0.00	\$0.00	\$0.00
ENT3B3J	Intersector Surface Mount Light, 9-32 Vdc, Black Housing, 16 LEDs, Dual Color - Red/Blue	2.00	\$186.00	\$372.00
PMP2BKUMB4	Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2020-2022 for use with mpower® 3" and 4" Stud or Quick Mount and Intersector Surface Mount	2.00	\$20.00	\$40.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
21121112	PROFILE LIGHTS	0.00	\$0.00	\$0.00
ENFSGS3J	nFORCE® Single Deck/Grille Mount Light, SAE Class 1, 10- 16v, Black Housing, 12 LED, Dual Color - Red/Blue	2.00	\$133.00	\$266.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	REAR CORNER TAIL LIGHT	0.00	\$0.00	\$0.00
ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9- 32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	2.00	\$83.00	\$166.00
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2.00	\$3.00	\$6.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	SIREN/SPEAKER	0.00	\$0.00	\$0.00
ETSA481RSP	nERGY® 400 Series Remote Siren w/ Button Control, 10-16v - for one 100 watt speaker	1.00	\$598.00	\$598.00
ETSSVBK01	100N/100J Series Speaker Bracket (only - no drill) for the Ford PI Utility 2020-2021, Bumper Mount	1.00	\$29.00	\$29.00
ETSS10035	1003 Series Composite Speaker w/ Universal Bail Bracket - 100 watt	1.00	\$225.00	\$225.00
LABOR- INSTALLATION	Installation	4.00	\$95.00	\$380.00
	REAR DECK LIGHTBAR	0.00	\$0.00	\$0.00

Product ID	Description	Quantity	Price	Sub Tota
ENFWB001LV	Ford Explorer/PI Utility w/o Option 76P (2020-22) Solid Rear (DRV) D12 D12 D12 D12 D12 D12 (PAS) R_A R_A R_A B_A B_A B_A Accessories: PNFLBSPLT1 DSC w/ Breakout Box (Included) Notes: 2022 Ford PIU Unmarked Rear Visor Sales Order ID: QE096176	1.00	\$818.00	\$818.00
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
	MDT/CONSOLE	0.00	\$0.00	\$0.0 0
AS4.C237.501	2020+ INT SUV CONSOLE	1.00	\$482.00	\$482.00
AS4.F111.299	SOUND OFF SIGNAL ETSA380R/481RSP/482RSP FACE PLATE	1.00	\$25.00	\$25.00
AS4.F111.297	MOTOROLA APX2500/6500/7500 FACE PLATE	1.00	\$25.00	\$25.00
7170-0251	KIT: Panasonic Toughbook 55 DUAL RF Laptop Dock (7160- 0577-02) and LIND power adapter (#7300-0461)	1.00	\$1,166.00	\$1,166.00
AS5.N101.003	MOUSETRAP WITH WEDGE TILT	1.00	\$255.00	\$255.00
LABOR- INSTALLATION	Installation	3.00	\$95.00	\$285,00
	FZ-55 TOUGHBOOK	0.00	\$0.00	\$0.00
FZ-55FZ-14VM	Public Sector Specific, Win10 Pro, Intel Core i7-1185G7 (up to 4.8GHz), vPro, 14.0" FHD 1000 nit Gloved Multi Touch, 16GB, 512GB OPAL SSD, Intel Wi-Fi 6, Bluetooth, 4G LTE Band 14 (EM7511), GPS, Dual Pass (Ch1:GPS/Ch2:WWAN), Infrared Webcam, Standard Battery, TPM 2.0, Emissive Backlit Keyboard, Flat, CF-SVC512SSD3Y - 3 Year No Return of Defective Drive, CF-SVCADDPRM12B - 1 Year Absolute Resillence Panasonic Warranty Bundle SKU Only, CF-SVCLTNF3YR - 3 Year Premier Deployment	1.00	\$3,852.00	\$3,852.00
	ANTENNA	0.00	\$0.00	\$0.00
SH-GLENARDEN-001	Sharkee Antenna forMotorola APX 7500 and Cell/LTE Rok BrothersKit will connect: 1X MOTO 7/800, 1X LTE TNC	1.00	\$223.00	\$223.00
LABOR- INSTALLATION	Installation	1,00	\$95.00	\$95.00
	RADIO INSTALL	0.00	\$0.00	\$0.00
CUSTOMER ITEM	Customer provided Motorola APX6500 remote head radio, antenna, connectors	1.00	\$0.00	\$0.00
ABOR- INSTALLATION	Installation	3.00	\$95.00	\$285.00
	DECALS	0.00	\$0.00	\$0.00
DECAL-FULL KIT	Full decal kit. Strips, badges, lettering twitter and Facebook etc.	1.00	\$900.00	\$900.00
	TRUCK VAULT	0.00	\$0.00	\$0.00

Product ID	Description	Quantity	Price	Sub Total
T-FDEXRM1-20N-PS- PP-LR	Explorer Magnum 1 Dwr Police Package; Prisoner Cage; Radio Lift & Tray Magnum Height 1 Drawer Radio Lift Includes Radio Tray Vehicle Year: 2020+ PPV No 3rd Row Seats Prisoner Cage: Yes Exterior Carpet: Black Interior Carpet: Black Interior Carpet: Black Composite Lock: Push Button w/Key Override 2 Mag Carpeted Long Dividers 2 Mag Carpeted Short Divider	1.00	\$5,857.50	\$5 , 85 7 .50
LABOR- INSTALLATION	Installation	2.00	\$95.00	\$190.00
334	PRISONER CAGE	0.00	\$0.00	\$0.00
P1000UINT20AOSB	Single Compartment, Pro-Cell, 1/2 Partition, w/ Passenger Side Only Outboard Seat Belts	1.00	\$2,855.00	\$2,855.00
LABOR- INSTALLATION	Installation	5.00	\$95.00	\$475.00
	INSTALL KIT	0.00	\$0.00	\$0.00
INSTALL KIT		1.00	\$343.00	\$343.00
7616-1001B	Dual Time Delay	1.00	\$94.00	\$94.00

Total Tax	\$0.00		
Total	\$24,017.50		

Invoice

PS-INV107000

G GLOBAL

PO Box 69276 Baltimore, MD 21264-9276 Sold To Glenarden Police Department 8600 Glenarden Pkwy

Glenarden MD 20706-1522 USA Ship-to Address
Glenarden Police Department
8600 Glenarden Pkwy
Glenarden MD 20706-1522
USA

Customer PO No. 2023 FORD PIU UM

CHIEF Order No. Salesperson Nathan Bodkin

Package Tracking No.

Due Date November 13, 2022

Your Reference

Document Date
October 14, 2022

ORD-06270-Z0Q6T2

VIN:1FM5K8AB5NGB30249 2023 FORD PIU UM CHIEF

No.	Description	Quantity	Unit	Unit Price	Line Amount
LABOR- INSTALLATI ON	Installation	2	Each	95,00	190.00
EMPS1STS4 RBW	mpower® 3" Grille Stud Mount Fascia Light for Grille Mount application, 18" hard wire w/ sync option	2	Each	121.00	242.00
LABOR- INSTALLATI ON	Installation	4	Each	95.00	380.00
ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes	2	Each	83.00	166.00

October 14, 2022

Page 2/6

_				
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2 Each	3.00	6.00
LABOR- INSTALLATI ON	Installation	2 Each	95.00	190.00
ENT3B3J	Intersector Surface Mount Light, 9-32 Vdc, Black Housing, 16 LEDs, Dual Color - Red/Blue	2 Each	186.00	372.00
LABOR- INSTALLATI ON	Installation	2 Each	95.00	190.00
ENFSGS3J	nFORCE® Single Deck/Grille Mount Light, SAE Class 1, 10-16v, Black Housing, 12 LED, Dual Color - Red	2 Each	133.00	266.00
LABOR- INSTALLATI ON	Installation	2 Each	95.00	190.00
ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes	2 Each	83.00	166.00
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2 Each	3.00	6.00
LABOR- INSTALLATI ON	Installation	2 Each	95.00	190.00

Home Page

Phone No.

GlobalPublicSafety.US (443) 345-5294 x131

October 14, 2022

Page 3 / 6

ETSA481RSP	nERGY® 400 Series Remote Siren w/ Button Control, 10-16v - for one 100 watt speaker	1 Each	598.00	598.00
ETSSVBK01	100N/100J/100U Series Speaker Bracket (only - no drill) for the Ford Pl Utility 2020-2022, Bumper Mo	1 Each	29.00	29.00
LABOR- INSTALLATI ON	Installation	4 Each	95.00	380.00
LABOR- INSTALLATI ON	Installation	2 Each	95.00	190.00
AS4.C237.50	2020+ INT SUV CONSOLE	1 Each	482.00	482.00
LABOR- INSTALLATI ON	Installation	3 Each	95.00	285.00
	Sharkee Antenna forMotorola APX 7500 and Cell/LTE Rok BrothersKit will connect: 1X MOTO 7/800, 1	1 Each	223.00	223.00
LABOR- INSTALLATI ON	Installation	1 Each	95.00	95.00
CUSTOMER ITEM	CUSTOMER ITEM	1 Each	0.00	0.00

Home Page

Phone No.

GlobalPublicSafety.US (443) 345-5294 x131

October 14, 2022

Page 4/6

LABOR- INSTALLATI ON	Installation	3 Each	95.00	285.00
7616-1001B	Dual Time Delay	1 Each	94.00	94.00
INSTALL KIT	Installation Kit	1 Each	343.00	343.00
ENFWB001L V	Ford Explorer/PI Utility w/o Option 76P (2020) Solid Rear (DRV) D12 D12 D12 D12 D12 CAS)	1 Each	818.00	818.00
EMPS2STS5 RBW	mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	2 Each	136.00	272.00
PMP2BKUM B4	Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2020- 2022 for use with mpo	2 Each	20.00	40.00
ETSS100J5	100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	1 Each	225.00	225.00
EMPS2STS4	mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	2 Each	122.00	244.00
PMP2BKDG AJ	90 Degree Deck/Grille Adjustable Bracket Kit for mpower® 4" Fascia Light w/ Stud Mount - Black	2 Each	8.00	16.00
LABOR- INSTALLATI ON	Installation	2 Each	95.00	190.00

Home Page

Phone No.

Emai

GlobalPublicSafety.US

(443) 345-5294 x131

October 14, 2022

Page 5/6

			Memos	
- Ad the divine by page and page		Total Payments/Credit		0.00
			Total \$	13,781.25
			Total Tax	0.00
andress of the state of the sta	and which a stand a standard and the sta	THE RESERVE THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TWIND TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN	Subtotal	13,781.25
ON .				
LABOR- INSTALLATI	Installation	0 Each	95.00	0.00
	Ma			
20N-PS-PP-	Cage; Radio Lift & Tray 3,095.00 866.60 4,456.80			
FDEXRM1-	Package; Prisoner			
T-	Explorer Magnum 1 Dwr Police	0 Each	0.00	0.00
7160 - 1216- 09	Mongoose XLE 9"	1 Each	337.20	337.20
7300-0373- 06	PMT FZ-55 DUAL PASS THROUGH DOCK PAN US W PS	I Eacii	1,119.00	1,119.00
ENFWB	ENFWB Interior Lightbar	1 Each 1 Each	1,054.00	1,054.00
	FHD Multi Touch,16GB,512GB OPAL SSD,I			
FZ-55FZ- 14KM	PANASONIC: Win10 Pro (Win11 DG),i7-1185G7 (up to 4.8GHz),14.0	1 Each	3,858.05	3,858.05
7	FACE PLATE			
AS4.F111.29	PRINT FACE PLATE	1 Each	25.00	25.00
AS4.F111.29	SOUND OFF SIGNAL ETSA380R/481RSP/482RSP/500/blue	1 Each	25.00	25.00

Home Page

Phone No.

Em

GlobalPublicSafety.US

(443) 345-5294 x131